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Corrections for July 21, 2017
	Pg
	Error – Fifth Printing
	Correction

	217
	Chapter 8, Table 8-4, Global Command Syntax Column, Fifth Row Down

Reads:

Switch(config)# spanning-tree bpdufilter default
	Should read:

Switch(config)# spanning-tree portfast bpdufilter default


Corrections for April 26, 2017
	Pg
	Error – Fourth Printing
	Correction

	472
	Chapter 22, Sixth Task, Command Syntax

Reads:

Switch(config)# authorization{commands level | exec |reverse-access} {default | list-name}
	Should read:
Switch(config-line)# authorization{commands level | exec |reverse-access} {default | list-name}

	482
	Appendix A, Chapter 4, Answer 13

Reads:

13. B, C. Interface Gig1/0/33 is not listed as a member of VLAN 10, so it could be configured for a different VLAN. The interface could also be configured as a trunk carrying one or more VLANs. In that case, it would not be listed as a member of VLAN 10 only.
	Should read:

13. B. Interface Gig1/0/33 is not listed as a member of VLAN 10, so it could be configured for a different VLAN. The interface could also be configured as a trunk carrying one or more VLANs. In that case, VLAN 10 would be listed if it was allowed to be carried over the trunk link.

	484
	Appendix A, Chapter 13, Answer 7

Reads:

7. C
	Should read:

7. A


Corrections for March 11, 2017
	Pg
	Error – Fourth Printing
	Correction

	257
	Chapter 10, Key Topic, Second Bullet, Second Sentence

Reads:

Therefore, the other end must be set to either desirable or auto mode.
	Should read:

Therefore, the other end must be set to either desirable or auto mode for PAgP or active or passive for LACP.

	306
	Chapter 13, ‘Do I Know This Already?” Quiz, Question 6, Answer ‘a’

Reads:

a. Stratum 0
	Should read:

a. Stratum 255


Corrections for January 16, 2017
	Pg
	Error – Fourth Printing
	Correction

	483
	Errata Correction - Appendix A, Chapter 6, Answer to Question 3

Reads:

3.   A
	Should read:

3.  B

	489
	Appendix B, First Paragraph, Last Sentence

Reads:

As mentioned in the Introduction, the additional content about the exam is contained in a PFD document on this book’s companion website, at http://www.ciscopress.com/title/9781587205606.
	Should read:

As mentioned in the Introduction, the additional content about the exam is contained in a PFD document on this book’s companion website, at http://www.ciscopress.com/store/ccnp-routing-and-switching-switch-300-115-official-9781587205606.


Corrections for October 22, 2016
	Pg
	Error – Third Printing
	Correction

	302
	Chapter 12, Table 12-4, First Task, Command Syntax
Reads:

Switch(config-if)# ip dhcp excluded-address start-ip end-ip
	Should read:
Switch(config)# ip dhcp excluded-address start-ip
end-ip



	302
	Chapter 12, Table 12-4, Second Task, Command Syntax

Reads:

Switch(config-if)# ip dhcp pool pool-name
	Should read:

Switch(config)# ip dhcp pool pool-name

	355
	Chapter 16, First Paragraph, First Sentence

Reads:

You can define only one destination for each SPAN session.
	Should read:

You can define more than one destination for each SPAN session.

	386
	Chapter 16, HSRP Router Election, Number 1 and Number 2

Reads:

1. Disabled

2. Init
	Should read:

1. Disabled

2. Learn

	423
	Chapter 19, Example 19-5, Last Three Commands
Reads:

Switch(config-if) # storm control broadcast level 50
Switch(config-if) # storm control multicast level pps 50k
Switch(config-if) # storm control unicast level 20 10
	Should read:
Switch(config-if) # storm-control broadcast level 50
Switch(config-if) # storm-control multicast level pps 50k
Switch(config-if) # storm-control unicast level 20 10


Corrections for July 15, 2016
	Pg
	Error – Third Printing
	Correction

	186
	Chapter 7, Fourth Paragraph, Last Sentence

Reads:

The default priority is greater than the current root bridge priority of 4200, so the local switch cannot become the root.
	Should read:

The default priority is greater than the current root bridge priority of 4196, so the local switch cannot become the root.


Corrections for March 20, 2016
	Pg
	Error – Third Printing
	Correction

	237
	Chapter 9, Table 9-2, Third Task, Command Syntax
Reads:

Switch(config)# spaning-tree mst instance-id cost cost
	Should read:
Switch(config-if)# spaning-tree mst instance-id cost cost

	237
	Chapter 9, Table 9-2, Fourth Task, Command Syntax

Reads:

Switch(config)# spanning-tree mst instance-id port-priority port-priority
	Should read:

Switch(config-if)# spanning-tree mst instance-id port-priority port-priority

	317
	Chapter 13, First Paragraph, First Sentence

Reads:

As its name implies, the Simplified Network Time Protocol (SNTP) offers a reduced set of NTP functions.
	Should read:

As its name implies, the Simple Network Time Protocol (SNTP) offers a reduced set of NTP functions.

	319
	Chapter 13, Table 13-4, Last Task, First Command Syntax

Reads:

Switch(config)# logging host
	Should read:

Switch(config)# logging host ip-address


Corrections for December 17, 2015
	Pg
	Error – Second Printing
	Correction

	355
	Chapter 16, Second Paragraph, Third Sentence

Reads:

Examples include Spanning Tree Protocol (STP) bridge protocol data unites (BPDUs), Cisco Discovery Protocol (CDP), Virtual Trunking Protocol (VTP), Dynamic Trunking Protocol (DTP), and Page Aggregation Protocol (PAgP).
	Should read:

Examples include Spanning Tree Protocol (STP) bridge protocol data unites (BPDUs), Cisco Discovery Protocol (CDP), Virtual Trunking Protocol (VTP), Dynamic Trunking Protocol (DTP), and Port Aggregation Protocol (PAgP).


Corrections for December 2, 2015
	Pg
	Error – Second Printing
	Correction

	85
	Chapter 3, Table 3-9, Command Syntax Column, Seventh Row

Reads:

Switch(config-if)# errdisable detect cause [all | cause-name]
	Should read:

Switch(config)# errdisable detect cause [all | cause-name]

	85
	Chapter 3, Table 3-9, Command Syntax Column, Eighth Row

Reads:

Switch(config-if)# errdisable recovery cause [all | cause-name]
	Should read:

Switch(config)# errdisable recovery cause [all | cause-name]

	85
	Chapter 3, Table 3-9, Command Syntax Column, Tenth Row

Reads:

Switch(config)# show interface status err-disabled
	Should read:

Switch# show interface status err-disabled

	86
	Chapter 3, Table 3-10, Command Syntax Column, Fourth Row

Reads:

Switch(config)# show lldp neighbors [type member/module/number] [detail]
	Should read:

Switch#   show lldp neighbors [type member/module/number] [detail]

	241
	Chapter 10, “Do I Know This Already?” Quiz, Question 1

Reads:

1. If Gigabit Ethernet ports are bundled into an EtherChannel, what is the maximum throughput supported on a Catalyst switch?
	Should read:

1.   If Gigabit Ethernet ports are bundled into an EtherChannel, what is the maximum throughput supported when one Catalyst switch transmits data to another?


Corrections for November 17, 2015
	Pg
	Error – Second Printing
	Correction

	160
	Chapter 6, First Paragraph, Third, Fourth and Fifth Sentences
Reads:

Switch B selects its port gi1/0/1, with a root path cost of 0 plus 19. Port gi1/0/2 is not chosen because its root path cost is 0 (BPDU from Switch A) plus 19 (path cost of A-C link), plus 19 (path cost of C-B link), or a total of 38. Switch C makes an identical choice of port gi1/0/1.
	Should read:
Switch B selects its port gi1/0/1, with a root path cost of 0 plus 4. Port gi1/0/2 is not chosen because its root path cost is 0 (BPDU from Switch A) plus 4 (path cost of A-C link), plus 4 (path cost of C-B link), or a total of 8. Switch C makes an identical choice of port gi1/0/1.


Corrections for November 6, 2015
	Pg
	Error – Second Printing
	Correction

	241
	Chapter 10, “Do I Know This Already?” Quiz, Question 1

Reads:

1. If Gigabit Ethernet ports are bundled into an EtherChannel, what is the maximum throughput supported on a Catalyst switch?
	Should read:

1. If Gigabit Ethernet ports are bundled into a single EtherChannel, what is the maximum throughput that can be achieved from one switch toward another?


Corrections for July 6, 2015
	Pg
	Error – Second Printing
	Correction

	212
	Chapter 8, Third Full Paragraph, Last Sentence
Reads:

The default interval is 7 seconds.
	Should read:
The default interval is 15 seconds.


Corrections for June 12, 2015
	Pg
	Error – Second Printing
	Correction

	277
	Chapter 11, Example 11-5, Displaying Detail Information About Adjacencies
Replace Example 
	Replacement Example 11-5

Switch# show adjacency vlan 99 detail

Protocol
Interface
Address

IP
Vlan99
192.168.1.2(5)

                                  
 0 packets, 0 bytes

                                   
epoch 0

                                   
sourced in sev-epoch 0

                                  
Encap length 14

                                   
000A5E45B145000E387D51000800

                                   
L2 destination address byte offset 0

                                   
L2 destination address byte length 6

                                   
Link-type after encap: ip

                                   
ARP

IP       
Vlan99          
192.168.1.3(5)

                                   
1 packets, 104 bytes

                                   
L2 destination address byte offset 0

                                  
L2 destination address byte length 6

                                  
 Link-type after encap: ip

                                   
ARP

                                   
000CF1C909A0000E387D51000800

                                   
L2 destination address byte offset 0

                                  
L2 destination address byte length 6

                                  
Link-type after encap: ip

                                  
ARP


Corrections for May 15, 2015
	Pg
	Error – Second Printing
	Correction

	25
	Chapter 1, Table 1-3, Second Row, Uplinks Column

Reads:

2 Gigabit Ethernet or 4 10GE
	Should read:

4 Gigabit Ethernet, 2 10GE, or 4 10GE

	50
	Chapter 2, Table 2-3, and Table 2-4

Replace with new Tables
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Corrections for April 24, 2015
	Pg
	Error – First Printing
	Correction

	60
	Chapter 3, Fast Ethernet, First Sentence
Reads:

Fast Ethernet supports a maximum of 100 Mbps untwisted pair (UTP) or fiber-optic cabling.
	Should read:
Fast Ethernet supports a maximum of 100 Mbps unshielded twisted pair (UTP) or fiber-optic cabling.

	136
	Chapter 5, Table 5-4, Last Row, Characteristics for OFF

Reads:

VLAN configuration changes are made locally; incoming VTP advertisements are not processed locally, but simply related instead.
	Should read:

VLAN configuration changes are made locally; incoming VTP advertisements are neither processed locally nor relayed out to any other trunk link.


Corrections for April 10, 2015
	Pg
	Error – Second Printing
	Correction

	18
	Chapter 1, Figure 1-13

Replace Figure 1-13
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	186
	Chapter 7, Fourth Paragraph, Last Sentence

Reads:

The default priority is greater than the current root bridge priority of 4200, so the local switch cannot become the root.
	Should read:

The default priority is greater than the current root bridge priority of 4196, so the local switch cannot become the root.

	483
	Appendix A, Chapter 6, Answer to Question 3

Reads:

3.   B
	Should read:

3.  A


Corrections for March 20 2015
	Pg
	Error – First Printing
	Correction

	135
	Chapter 5, Note, Second Sentence

Reads:

The servers do not elect a primary or secondary server; they all simply function as servers
	Should read:

The servers do not elect a primary or secondary server; except in the case of VTPv3, they all simply function as servers.


Corrections for January 28, 2015
	Pg
	Error – First Printing
	Correction

	107
	Chapter 4, Last Two Bullet titles

Read:

· dynamic desirable (the default):

· dynamic auto:
	Should read:

· dynamic desirable:

· dynamic auto (the default):

	270
	Chapter 11, Figure 11-2, top label of Figure

Reads:

Interface VLAN 11
	Should read:

Interface VLAN 10


Corrections for January 6, 2015
	Pg
	Error – First Printing
	Correction

	160
	Chapter 6, First Paragraph, Third Sentence

Reads:

Switch B selects its port gi1/0/1, with a root path cost of 0 plus19. Port gi1/0/2 is not chosen because its root path cost is 0 (BPDU from Switch A) plus 19 (path ost of A-C link), plus 19 (path cost of C-B link), or a total of 38
	Should read:

Switch B selects its port gi1/0/1, with a root path cost of 0 plus 4. Port gi1/0/2 is not chosen because its root path cost is 0 (BPDU from Switch A) plus 4 (path ost of A-C link), plus 4 (path cost of C-B link), or a total of 8.

	161
	Chapter 6, Second Bullet, Third Sentence

Reads:

The root path cost for each end of this segment is 19, determined from the incoming BPDU on port gi1/0/1.
	Should read:

The root path cost for each end of this segment is 4, determined from the incoming BPDU on port gi1/0/1.


	182
	Chapter 7, Figure 7-1

Replace Figure 7-1
	New Figure 7-1


[image: image3.emf]

	485
	Appendix A, Chapter 15, Answer 2

Reads:

2. A, C
	Should read

2. A, C, F
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